
৩১ তম             -      ম        

১। 

            জ ক  ক? 

(ক) 

                

(খ) 

                  

( ) 

         ক   

(ঘ) 

          ক   

     ক।                 

২। 

'আ  ম '             ক  ক? 

(ক) 

         ক   

(খ) 

                  

( ) 

          ক   

(ঘ) 

                 

     খ।                   

৩। 

        ক  ত     ক   ক            ত? 

(ক) 
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(খ) 

            

( ) 

          

(ঘ) 

      খ  

     ক।         

৪। 

ত            ম  ক   ক   জ      ক   ? 

(ক) 

   খ       

(খ) 

           

( ) 

           

(ঘ) 

     ক     

      ।            

৫। 

'     '      ক       ক  ক       ক       ? 

(ক) 

ক           

(খ) 

              

( ) 

            

(ঘ) 
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     ঘ।            

৬। 

ম   ক  ম            '        ক   '  ক         ক   ? 

(ক) 

   ট 

(খ) 

  ক   য 

( ) 

   ক   য 

(ঘ) 

    ক   য 

     খ।   ক   য 

৭। 

আ       ' ত    '  ক         ক    ? 

(ক) 

        

(খ) 

    ক   য 

( ) 

    ক   য 

(ঘ) 

       

     খ।     ক   য 

৮। 

' জ  ক'      ক          ক                  ? 

(ক) 

   ক  

(খ) 
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( ) 

     

(ঘ) 

      

     ক।    ক  

৯। 

 ম        'আ ত' ক   ম           ? 

(ক) 

       

(খ) 

ক       

( ) 

        

(ঘ) 

         

     ঘ।          

১০। 

    ক      ক        ম? 

(ক) 

             ক 

(খ) 

               

( ) 

                 

(ঘ) 

             ক 

      ।                  
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১১। 

   -    ত    '    '  ক                   ? 

(ক) 

      

(খ) 

              

( ) 

          

(ঘ) 

          

     খ।               

১২। 

'    ত'       ম   ক        ক    ? 

(ক) 

     

(খ) 

     

( ) 

     

(ঘ) 

    

     ঘ।     

১৩। 

'       ম     ত'    ত             ক    ম ক  ? 

(ক) 

    

(খ) 

ক           
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( ) 

ক           

(ঘ) 

 ক      

      । ক           

১৪। 

'  ত          '          ক    ম ক ? 

(ক) 

             

(খ) 

       খ   

( ) 

             

(ঘ) 

              

     খ।        খ   

১৫। 

Quarterly          ক ? 

(ক) 

      ক 

(খ) 

    ক 

( ) 

      ক 

(ঘ) 

      ক 

      ।       ক 

১৬। 
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       ক             ? 

(ক) 

         

(খ) 

         

( ) 

         

(ঘ) 

         

     ক।          

১৭। 

               ক ? 

(ক) 

     

(খ) 

খ      

( ) 

 ক  ক  

(ঘ) 

ক     

     ক।      

১৮। 

     ত            ত কত  ক  ? 

(ক) 

৪ 

(খ) 

২ 

( ) 
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৫ 

(ঘ) 

৬ 

     খ। ২ 

১৯। 

           ,       ,     ...          তক    ক? 

(ক) 

            

(খ) 

             

( ) 

          ক    

(ঘ) 

           

      ।           ক    

২০। 

     ক আ ম         ম ত     ক    ? 

(ক) 

১৯৯৯ 

(খ) 

১৯৯৮ 

( ) 

১৯৯৭ 

(ঘ) 

২০০০ 

     ক। ১৯৯৯ 

২১। 

In each of the following questions, out of the given alternatives, choose the one that best 
expresses the meaning of the given word:- Sporadic 
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(ক) 

Consistent 

(খ) 

Uniform 

( ) 

Frequent 

(ঘ) 

Scattered 

     ঘ। Scattered 

২২। 

In each of the following questions, out of the given alternatives, choose the one that best 
expresses the meaning of the given word:- Omnipotent 

(ক) 

Feeble 

(খ) 

Impotent 

( ) 

Vulnerable 

(ঘ) 

Supreme 

     ঘ। Supreme 

২৩। 

In each of the following questions, choose the word opposite in meaning to the given 
word:- Repeal 

(ক) 

Abolish 

(খ) 

Annul 

( ) 

Enact 

(ঘ) 
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Nullify 

      । Enact 

২৪। 

In each of the following questions, choose the word opposite in meaning to the given 
word:- Equity 

(ক) 

Integrity 

(খ) 

Bias 

( ) 

Justice 

(ঘ) 

Uprightness 

     খ। Bias 

২৫। 

In each of the following questions, out of the four alternatives, choose the one which can 
be substituted for the given word/sentence:- A formal composition or speech expressing 
high praise of somebody- 

(ক) 

eulogy 

(খ) 

elegy 

( ) 

caricature 

(ঘ) 

exaggeration 

     ক। eulogy 

২৬। 

The word 'Shrug' indicating doubt or indifference is associated with- 

(ক) 

Head 
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(খ) 

Forehead 

( ) 

Shoulders 

(ঘ) 

Eyebrows 

      । Shoulders 

২৭। 

He is quite _ in dealing with people. 

(ক) 

imprudent 

(খ) 

diplomatic 

( ) 

unsubtle 

(ঘ) 

impolite 

     খ। diplomatic 

২৮। 

They suffered much _ tornado had hit their village. 

(ক) 

until 

(খ) 

as if 

( ) 

let alone 

(ঘ) 

since 

     ঘ। since 

২৯। 
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Choose the wrong sentence: 

(ক) 

They parted from one another suddenly 

(খ) 

The leader expressed himself forcibly 

( ) 

The land is belonged to an old lady 

(ঘ) 

Mother bought me an ice-cream 

      । The land is belonged to an old lady 

৩০। 

Choose the wrong sentence: 

(ক) 

His failure resulted for lack of attention 

(খ) 

He was always arguing with his brother 

( ) 

When will you write to him about your plan? 

(ঘ) 

Who was the boy you were all laughing at? 

     ক। His failure resulted for lack of attention 

৩১। 

Choose the correctly spelt word:- 

(ক) 

Volantory 

(খ) 

Volantary 

( ) 

Voluntary 

(ঘ) 
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Voluntory 

      । Voluntary 

৩২। 

Choose the correctly spelt word:- 

(ক) 

Accilerate 

(খ) 

Accelerrate 

( ) 

Accilarate 

(ঘ) 

Accelerate 

     ঘ। Accelerate 

৩৩। 

Choose the correctly spelt word:- 

(ক) 

Suname 

(খ) 

Tsunami 

( ) 

Sunami 

(ঘ) 

Sunamce 

     খ। Tsunami 

৩৪। 

Which living in poverty, the poet had to _ a great deal of sufferings 

(ক) 

see through 

(খ) 

put up with 
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( ) 

pass by 

(ঘ) 

fall back 

     খ। put up with 

৩৫। 

Wordsworth introduced the readers _ a new kind of poetry. 

(ক) 

with 

(খ) 

at 

( ) 

to 

(ঘ) 

by 

      । to 

৩৬। 

----- his earlier study,the professor's new study indicates a general warning trend in 
global weather. 

(ক) 

In contrast of 

(খ) 

In contrast by 

( ) 

In contrast to 

(ঘ) 

In contrast as 

      । In contrast to 

৩৭। 

Only those who are not serious to their success work by----and starts. 
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(ক) 

fits 

(খ) 

every inch 

( ) 

against time 

(ঘ) 

long odds 

     ক। fits 

৩৮। 

Of the four alternatives given below, choose the word/words that best fits into the 
underlined word given in the sentence: - One day 'women will have so long been denied 
them leisure, money and room to themselves. 

(ক) 

Spece 

(খ) 

Liberty 

( ) 

Office 

(ঘ) 

Capacity 

     খ। Liberty 

৩৯। 

Crafty men condemn study,simple men admire them and wise men use them.Best 
alternative for the word--Condemn 

(ক) 

laud 

(খ) 

compliment 

( ) 

acclaim 
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(ঘ) 

denounce 

     ঘ। denounce 

৪০। 

To end in smoke----- 

(ক) 

To come to nothing 

(খ) 

To see fire 

( ) 

To go through suffering 

(ঘ) 

To create fire 

     ক। To come to nothing 

৪১। 

              ক            ক         ত? 

(ক) 

        

(খ) 

  ক  

( ) 

         

(ঘ) 

          

     ঘ।           

৪২। 

জ  ত      জ                     ১৯৯৪         জ          ক                 

    কত? 

(ক) 
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(খ) 

 ক    

( ) 

    

(ঘ) 

       

      ।     

৪৩। 

  ক             ক     ত  ত   ? 

(ক) 

১৯২১ 

(খ) 

১৯২৫ 

( ) 

১৯২৯ 

(ঘ) 

১৯৩৩ 

     ক। ১৯২১ 

৪৪। 

                     কত                           ক    কম   ক ম      ত   ? 

(ক) 

১৩৮ 

(খ) 

১৪৭ 

( ) 

১৫০ 

(ঘ) 
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১৩৭ 

     ঘ। ১৩৭ 

৪৫। 

 ক                   ক   ? 

(ক) 

         

(খ) 

           

( ) 

 ক   

(ঘ) 

        

      ।  ক   

৪৬। 

                  ক            ক    ত? 

(ক) 

        

(খ) 

    ট 

( ) 

             

(ঘ) 

      

     ক।         

৪৭। 

          ক      জ ত     ত    আ  ? 

(ক) 

৩  ট 
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(খ) 

৪  ট 

( ) 

৫  ট 

(ঘ) 

৬  ট 

     ক। ৩  ট 

৪৮। 

         ক     ক             কত? 

(ক) 

৫২৯  ক.   . 

(খ) 

৪২০  ক.   . 

( ) 

৩০৭  ক.   . 

(ঘ) 

৬২৭  ক.   . 

     ঘ। ৬২৭  ক.   . 

৪৯। 

       ত  ক          ক           ত ম                          ? 

(ক) 

   ক   য       

(খ) 

      

( ) 

      ক      

(ঘ) 
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     খ।       

৫০। 

          ক          ক                ত ক জ ক   ? 

(ক) 

১৯৮৫ 

(খ) 

১৯৮২ 

( ) 

১৯৭৫ 

(ঘ) 

১৯৮৮ 

     ঘ। ১৯৮৮ 

৫১। 

  জ             ক    ? 

(ক) 

        ড 

(খ) 

      

( ) 

           

(ঘ) 

      

     ক।         ড 

৫২। 

 ক       ‘   ম   ’    ম      ত? 

(ক) 

           

(খ) 
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( ) 

         

(ঘ) 

        ড 

     ঘ।         ড 

৫৩। 

              ত    ম- 

(ক) 

       

(খ) 

       ড 

( ) 

    ড     

(ঘ) 

        

     ঘ।         

৫৪। 

                ত       - 

(ক) 

১৭৮৯      

(খ) 

১৭৬৯      

( ) 

১৬৪০      

(ঘ) 

১৮১৫      

     ক। ১৭৮৯      
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৫৫। 

ক    ম ক    ক        ম ত      ক    ? 

(ক) 

       

(খ) 

        

( ) 

য      য 

(ঘ) 

      

      । য      য 

৫৬। 

আ                       ক      ? 

(ক) 

         

(খ) 

          

( ) 

         

(ঘ) 

     খ   

      ।          

৫৭। 

                  ক      ম  ক         ক  ত     ক   ? 

(ক) 

     

(খ) 

   ক 
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( ) 

          

(ঘ) 

         

     ঘ।          

৫৮। 

'        ক    '  ক                      ম   ত           ত ক  ? 

(ক) 

         ড    

(খ) 

          ক    

( ) 

              

(ঘ) 

      ক             ক      

     খ।           ক    

৫৯। 

ম   আ ম  ক    ক                            ? 

(ক) 

ক       

(খ) 

 ক     ক  

( ) 

  ক       

(ঘ) 

           

     খ।  ক     ক  

৬০। 
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                       ম       ক         ক    ? 

(ক) 

    

(খ) 

য        

( ) 

ক   ড  

(ঘ) 

        

     ক।     

৬১। 

 ক                   ? 

(ক) 

    ক  

(খ) 

           

( ) 

      

(ঘ) 

         

     খ।            

৬২। 

আ                 ক        ক ? 

(ক) 

   ট            খ           ক 

(খ) 

        খ    ক     ক 

( ) 

https://3hourbattle.com/sq/2667
https://3hourbattle.com/sq/2668
https://3hourbattle.com/sq/2669


   ট    খ           ক 

(ঘ) 

    খ           ক 

      ।    ট    খ           ক 

৬৩। 

              কত – 

(ক) 

2H2O2 

(খ) 

H2O 

( ) 

D2O 

(ঘ) 

HD2O2 

      । D2O 

৬৪। 

জ             ক     ? 

(ক) 

   ক             

(খ) 

   ক            

( ) 

            -        

(ঘ) 

         ক               ক         ঘ ট 

     ক।    ক             

৬৫। 

      ত    তম         ক    ত                 - 

(ক) 
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    ড                    য  

(খ) 

                       য  

( ) 

     ট          য  

(ঘ) 

 ড   ট         য  

     ক।     ড                    য  

৬৬। 

ক জ         কক      ম- 

(ক) 

      ড    

(খ) 

   ট      ট   

( ) 

   ট        ড 

(ঘ) 

     ক     ক       

     ক।       ড    

৬৭। 

আক      জ    মক  - 

(ক) 

    খ    ঘ        ঘ        

(খ) 

   ঘ                 ক            

( ) 

  ঘ                           

(ঘ) 
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   ঘ     খ              ক           য            

     ঘ।    ঘ     খ              ক           য            

৬৮। 

 ক                    ক     আ       ক       ? 

(ক) 

     

(খ) 

     

( ) 

        

(ঘ) 

     

      ।         

৬৯। 

   ক         ত  ক       ? 

(ক) 

   খ            

(খ) 

            

( ) 

        

(ঘ) 

         

     খ।             

৭০। 

         ত    আ    ক ত                ক      - 

(ক) 
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(খ) 

       ট   

( ) 

        ক  

(ঘ) 

 ড         

      ।         ক  

৭১। 

    ম              ত   ত     ত   ত   - 

(ক) 

           

(খ) 

            

( ) 

          

(ঘ) 

   ট       

     ক।            

৭২। 

    ক               - 

(ক) 

খ                                 

(খ) 

খ              ক           ক    

( ) 

খ                       

(ঘ) 

        ক ঘ ট     
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     খ। খ              ক           ক    

৭৩। 

ক          ক ক         ত   আ                 ক        ? 

(ক) 

      ট 

(খ) 

 -     

( ) 

    ক  

(ঘ) 

 ট      

     ক।       ট 

৭৪। 

 ম         ম                 ম  ক ? 

(ক) 

ক    

(খ) 

          

( ) 

   ট    ট 

(ঘ) 

      ট   

     ঘ।       ট   

৭৫। 

     জ       ক    ,    - 

(ক) 

  য                         ক          ক   

(খ) 
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                  ক          ক   

( ) 

  য  ,             য       ক      খ         ক   

(ঘ) 

          য           ক       ক 

      ।   য  ,             য       ক      খ         ক   

৭৬। 

 ক         ক      - 

(ক) 

         ক    

(খ) 

       ড 

( ) 

       

(ঘ) 

          ড 

     ক।          ক    

৭৭। 

ক    জ ম ত  ক জ              ক      ? 

(ক) 

   ট                য 

(খ) 

   ট               য 

( ) 

   ট                য 

(ঘ) 

                   য 

      ।    ট                য 
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৭৮। 

 ক   আ   ক ত    ম              ত           ? 

(ক) 

১০    ক ৪০০      

(খ) 

৪০০    ক ৭০০      

( ) 

১০০         ট      ক ১   . 

(ঘ) 

১            

     খ। ৪০০    ক ৭০০      

৭৯। 

   ক           ক    - 

(ক) 

            য 

(খ) 

                         য 

( ) 

            য 

(ঘ) 

            য 

     খ।                          য 

৮০। 

ম                      ম  জ ম    ক- 

(ক) 

২৩       

(খ) 

২৪       
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( ) 

২৫       

(ঘ) 

২০       

     ক। ২৩       

৮১। 

 ক                 ? 

(ক) 

3/11 

(খ) 

2/11 

( ) 

4/15 

(ঘ) 

2/13 

     ঘ। 2/13 

৮২। 

    Q/P=1/4    ত   (P+Q)/(P-Q)    ম  - 

(ক) 

5/3 

(খ) 

2/3 

( ) 

3/5 

(ঘ) 

5/7 

     ক। 5/3 

৮৩। 

   ম,ক  ম       জ   ত  জ    ক   ক জ ক  ত           ম 15,6     10     ।ত    

 ক    ত  জ   ক জ   কত          ক  ত      ? 
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(ক) 

3     

(খ) 

18     

( ) 

21     

(ঘ) 

7     

     ক। 3     

৮৪। 

 ক          40%         42      ক              ঐ         ।     কত? 

(ক) 

80 

(খ) 

90 

( ) 

75 

(ঘ) 

70 

     ঘ। 70 

৮৫। 

 ক          60%    ক 60        ক              60।ত           কত? 

(ক) 

100 

(খ) 

200 

( ) 

250 

(ঘ) 
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300 

     খ। 200 

৮৬। 

Log2(1/32)    ম  - 

(ক) 

1/25 

(খ) 

-5 

( ) 

1/5 

(ঘ) 

-1/5 

     খ। -5 

৮৭। 

 ক         ক           ম 4cm     6cm    ত               কত? 

(ক) 

12 

(খ) 

8 

( ) 

6 

(ঘ) 

24 

     ক। 12 

৮৮। 

(4x2-16)     6x2+24x+24        - 

(ক) 

x+2 

(খ) 
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x+4 

( ) 

x-2 

(ঘ) 

2 (x+2) 

     ঘ। 2 (x+2) 

৮৯। 

x3-x2  ক x-2          ক            ক   - 

(ক) 

-8 

(খ) 

-6 

( ) 

2 

(ঘ) 

4 

     ঘ। 4 

৯০। 

    a2+1/a2=51   ত   a-1/a    ম   কত? 

(ক) 

±5 

(খ) 

±9 

( ) 

±7 

(ঘ) 

±3 

      । ±7 

৯১। 
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3x-7y+10=0     y-2x-3=0     ম    - 

(ক) 

x=-1,y=-1 

(খ) 

x=-1,y=1 

( ) 

x=1,y=1 

(ঘ) 

x=1,y=-1 

     খ। x=-1,y=1 

৯২। 

    a+b=2,ab=1   ত   a    b    ম   কত? 

(ক) 

0,2 

(খ) 

-1,3 

( ) 

1,1 

(ঘ) 

-3,4 

      । 1,1 

৯৩। 

12+22+32+..........+x2    ম   কত 

(ক) 

x(x+1)/2 

(খ) 

x 

( ) 

{x(x+1)/2}2 
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(ঘ) 

{ x(x+1)(2x+1)}/6 

     ঘ। { x(x+1)(2x+1)}/6 

৯৪। 

f(x)=x3-2x+10     f(0) কত? 

(ক) 

1 

(খ) 

5 

( ) 

10 

(ঘ) 

8 

      । 10 

৯৫। 

(x-4)2 + (y+3)2=100        ক         ক কত? 

(ক) 

(0,0) 

(খ) 

(-4,3) 

( ) 

(10,10) 

(ঘ) 

(4,-3) 

     ঘ। (4,-3) 

৯৬। 

                   48     ত          432 ,ত              কত? 

(ক) 

37 
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(খ) 

36 

( ) 

39 

(ঘ) 

40 

     খ। 36 

৯৭। 

 ক       জ ক  ত ম                       ম 20m,21m     29m     আ        

কত? 

(ক) 

210m2 

(খ) 

20m2 

( ) 

300m2 

(ঘ) 

290m2 

     ক। 210m2 

৯৮। 

    (64)2/3 + (625)1/2=3h    ত   h    ম   কত? 

(ক) 

13 2/3 

(খ) 

12 2/5 

( ) 

11 1/3 

(ঘ) 

9 2/3 

     ক। 13 2/3 

https://3hourbattle.com/sq/2704
https://3hourbattle.com/sq/2704
https://3hourbattle.com/sq/2705


৯৯। 

                                      ম 20     96   ,ত               

          তক        কত    ? 

(ক) 

3/4 

(খ) 

1/6 

( ) 

5/24 

(ঘ) 

1/8 

      । 5/24 

১০০। 

0,1,2     3         ত        ক      ম        তম                - 

(ক) 

3147 

(খ) 

2287 

( ) 

2987 

(ঘ) 

2187 

     ঘ। 2187 
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